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%’ Example: 1

l KOOr CADE J

Subtract 38 pounds and 23 pounds.

Solution:
Tens Ones
Bag of oranges
3 3
2 3
1 >

So, 38 pounds - 23 pounds equals to 15 pounds.

So, answeris 1D pounds.
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Convert 15 pounds 1into ounces.

poundsQ ounces

Solution:
onund = 16 ounceD
15 pounds = 15 x 16 ounces

= 240 ounces

So there are 240 ounces in 15 pounds.
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Example: 2

Subtract 64 ounces and 32 ounces.

Solution:
Tens Ones candy
6 4
3 2
3 2

So, 64 ounces - 32 ounces equals to 32 ounces.

So, answeris 32 OUNCES.
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Convert 32 ounces 1into pounds.

ouncestounds

66 ounces = 1 pound

2
32 ounces = %

16

Solution:

pounds
= 2 pounds

So there are 2 pounds in 32 ounces.




%’ Example: 3
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Solution:

EEEEEE

Bag of cement

T O
1 0
1 0
0 O
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So, 8210 pounds - 2210 pounds equals to
6000 pounds.

So, answeris 6000 pounds.

Subtract 8210 pounds and 2210 pounds.
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Convert 6000 pounds 1nto tons.

poundsQ tons

Solution:
© 2000 pounds = 1ton
3
6000 pounds = o099 => s tons
2000 2
= 3 tons

So there are 3 tons in 6000 pounds.
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%’ Example: 4
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Subtract 49 tons and 37 tons.

Solution:
Tens Ones
4 9
3 7
1 2

So, 49 tons - 37 tons equals to 12 tons.

So, answeris 12 tons.
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Convert 12 tons into pounds.

Solution: fons {\"m‘""s

Qton 2000 pounds>

12tons = 12 x 2000 pounds

= 24000 pounds

£

So there are 24000 pounds in 12 tons.
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